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Series SSO COde - 58/3
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Roll No. ?%ﬁ%ﬁ TR 5 FE

Candidates must write the Code on the
title page of the answer-book.
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T 10.15 & fomam M@ | 10.15 S W 10.30 9 Gk BT hadd IIH-UF I UG
3R 38 AT & GHF d IW-YIEIhT T HIg IR T8 faE |

e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

AT

ECONOMICS
eiRa a7 : 3 a2 37ferhar 37 : 100
Time allowed : 3 hours Maximum Marks : 100
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Q=T 3397 :
G) gl @vel & @4t yeT AT & |
(i)  T9% I97 & [HERT 3% 358 qrgd R 1 §

(i)  ¥97 &1 1~ 3 97 15 — 19 3fa TGRIcHE F97 &, 578 I9% #1 1 3% & |
59T Yo &1 I Uk JTaFT H 57 37957 8 |

(iv) 397 &I 4- 8 3K 20 - 22 TFHIHF 97 8, 5780 JA9% & 3 3% & |
Y% ] I GHIT: 60 VsG] & 37feeh 757 &1 FeT |

(v)  To7 G&IT9 - 10 37K 23 - 25 Y} TFHIHS J97 8, 15770 J39% & 4 37% & |
ek &1 I GIHTIT: 70 Jeq] & 37fer 781 817 =i |

(vi) 97 &7 11-14 3R 26 - 29 T IHIcHS 97 &, 578 I9% & 6 3%
g | I9% &7 3T GrHT=Id: 100 Isq] @ 37fer 781 5147 =fzy |

(vii) I GIETTT TIT TeqIcHE §17 FIET TIT JIEYT FI 3 T8 Joq GIHT & dld
&7 13w o7 =nfFw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iti) Questions No. 1 - 3 and 15 - 19 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 4 -8 and 20 - 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 9 — 10 and 23 - 25 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 11 - 14 and 26 - 29 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

1. 3¢ a%g X <t diva fia @, a&q Y &1 O sedt 8, df gl aeqe e 3 8 ¢
(@&l ferhed g 1

(31)  wfaeerdt

(F) TH
(@) s &l
(c)  wfeamt

If due to fall in the price of good X, demand for good Y rises, the two
goods are : (Choose the correct alternative)

(a)  Substitutes
(b)  Complements
(c) Not related
(d) Competitive

2. gfc Hiua gfoeemm @ R s @ &, @ FRmE 9% & g o
GHACETRECIELY) 1
(27) = i 3R ToEl IAA
(@) =6 3R Toal A
(@) 6 AR Tl At W@
() W AR gAdl I

If Marginal Rate of Substitution is increasing throughout, the
Indifference Curve will be : (Choose the correct alternative)

(a)  Downward sloping convex
(b)  Downward sloping concave
(c) Downward sloping straight line

(d) Upward sloping convex
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3.  sEfumE fax i gitym G | 1
Define Indifference Map.

4. WA & 99 S A foesht fasent & “arg # s’ (Make in India)
A T YA o 3G HUEHT Ish T A1 YT US4 hl WS 8 ?

qyEATRy |

Jreran
SRS G o & YACl o1 AAATEAT 3hl IcaTG &FaT W R THE TS hl
GYTeHT 2 2 GHATST | 3

What is likely to be the impact of “Make in India” appeal to the foreign
investors by the Prime Minister of India, on the production possibilities

frontier of India ? Explain.

OR

What is likely to be the impact of efforts towards reducing
unemployment on the production potential of the economy ? Explain.

5. HgHM N IN-FgHR ARSI o = T T8 HIfT | 3

Distinguish between cooperative and non-cooperative oligopoly.

6. ‘gam hma (FeIam hHma My & T a%g % a9R W F&1 I976 984§ ?
TG 1 T IR | 3

What are the effects of ‘price-floor’ (minimum price ceiling) on the
market of a good ? Use diagram.

e : HETITIE 3797 HacT gIRgia Gaemaal & o7g J97 &7 6 & €7 W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 6.

Teh %] o IR W Fdad i (Feaw hima FHgiRon & J9& 9qesy | 3

Explain the effects of ‘price-floor’ (minimum price ceiling ) on the market
of a good.
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7. 9fd 1 HHd A= H AW 6 A9 I ‘g9-F9% (plus sign) H AT T TH
T g <h! T 1 HITd T o A9 o 1Y I8 FU-[&F (minus sign)
g GHST | 3
Explain the significance of ‘minus sign’ attached to the measure of price

elasticity of demand in case of a normal good, as compared to the ‘plus
sign’ attached to the measure of price elasticity of supply.

8. AU ¥ gY MHTAIRIA dTfcteht T MG 3cdTed HHIEAT 956 o TR T

fewoft HifSw . 3
e X (313) e Y (31E)
0 10
1 9
2 7
3 4
4 0

Giving reason comment on the shape of Production Possibilities Curve
based on the following table :

Good X (units) Good Y (units)
0 10
1 9
2 7
3 4
4 0

9. Uk ITHRA Ush a&q W el shima T 8 fd 3618 B, T 400 =% L B |
& 3geh! hHd 25 TfSd 9§ ATt 7, A SUNRRT 36 a%q W T 500 T Ll
2 | faera fafer gra |7 6t hiud A= w1 9iehad shifg | 4

A consumer spends ¥ 400 on a good priced at ¥ 8 per unit. When its
price rises by 25 percent, the consumer spends ¥ 500 on the good.
Calculate the price elasticity of demand by the Percentage method.
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10. U UH A hI ATSIUS IHIZA B IcdIGd fohAm Jrar g (31) 3hwd
A AN AN (F) G iad] ATd ol T g8’ &l 8 2

BPE)
ftea wenfed (M) <t ufamst e | yoiferg Shifse fo siaa gonfea ot
FHd THEHH B 2 | 4

What is the behaviour of (a) Average Fixed Cost and (b) Average
Variable Cost as more and more units of a good are produced ?

OR

Define Average Revenue. Show that Average Revenue and Price are
same.

11. €A 391G o &9 § gRadt Agurai o w6 fafis = «=n € 2 g =
1 HRUT 9dT3U | [T 1 ITANT hIT | 6

What are the different phases in the Law of Variable Proportions in
terms of marginal product ? Give reason behind each phase. Use

diagram.

e : eI 97 HacT givgia qhemaal & 1o/g 397 &ar 11 & T W E |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 11.
giEdt Ui o | < fofYe <Al i T qeAcHeh 3¢ hl Hgrdl d
HHARY | 6

Explain with the help of a numerical example different phases in the

Law of Variable Proportions.

12. T 9%] I 99K Ggad § 7 | a%g sl 7§ “ghg” 81 At 8 | 39 9iEad
HROT B ITeT TWTET T @A THES | 6
Market for a good is in equilibrium. Demand for the good “increases”.

Explain the chain of effects of this change.
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13. T IUYRHT hadl ¢ g3l X 3T Y 1 U9 LAl 8, GHI hl ST hiHd
T 2 ufd 518 ® | Afg Suvie g1 Seqett o UET wEm gaar § e
YfeRETad ST 2 & SUeR 7, A 91 IUHH Tga | 8 ? 91 A9ar I 481 2 Vet
feufa 8§ ues faaehl 3uHIhT =1 SHUT 2 9HETST |

HAAT

Teh IUYRHT had &l aegali X 3R Y &1 UMM ial 8, [Neh! Hidd s
T 5 3R T 47 | A IuARET AT Sgati 1 TET TAT AT B Fored X H
dord TN 4 & seR IR Y F Hiurd IuAfEr 5 & aUeR 7, o w0
YR T | 8 ? F AYar Fi A8 2 UEt feufa # ueh foeeht 3uadhr @
AT ? IFATAT Toresor 1 ITAM HIT | 6

A consumer consumes only two goods X and Y, both priced at ¥ 2 per
unit. If the consumer chooses a combination of the two goods with
Marginal Rate of Substitution equal to 2, is the consumer in
equilibrium ? Why or why not ? What will a rational consumer do in this

situation ? Explain.

OR

A consumer consumes only two goods X and Y whose prices are ¥ 5 and
T 4 respectively. If the consumer chooses a combination of the two goods
with marginal utility of X equal to 4 and that of Y equal to 5, is the
consumer in equilibrium ? Why or why not ? What will a rational

consumer do in this situation ? Use utility analysis.

14. GHEST foh AT T hl A T 7 & 1 Teh IcdTGeh g H 1 81 g | 6

Explain why will a producer not be in equilibrium if the conditions of

equilibrium are not met.
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15.

16.

58/3

Qus d
SECTION B

I 914 Ydad A R, Al e gw § faesft ggr < aR Hma frdt 7, @
Ui A (W ferehed gfQ)

(37)
(¥)
(%)
()

¥ gfg g <l FureT B @

# ol 31 Y EE B @

3fg 1 1 S R ) A e A
T TS GWTE TET B ohl FWTEET Bt B

Other things remaining the same, when in a country the market price of

foreign currency falls, national income is likely : (Choose the correct

alternative)

(a)
(b)
(c)
(d)

to rise
to fall
to rise or to fall

to remain unaffected

T sote | Jrerfiyes =rer g Bidn @ (WE faehew giw)

(37)
(¥)
(%)
(3)

ToTed =9 — qoted et

A T — A TIeadt

STEd YT — &F1S H{ITdE

(SIS H1ET — &1 HldlH

Primary deficit in a government budget is : (Choose the correct

alternative)

(a)
(b)
(c)
(d)

Revenue expenditure — Revenue receipts
Total expenditure — Total receipts
Revenue deficit — Interest payments

Fiscal deficit — Interest payments

8
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17. II T I TH[AT Hgdldl g Fifeh I8 HY & 399 Ireq fopan Sram 8 -
(ud fpew gfm) 1

(31) IcuTeehl ¥ IedTied St W
(@) fosharetl ¥ a&qd I=1 W
(@) shareil ¥ aeqd @led W
(3) o HAM a1 8§

Direct tax is called direct because it is collected directly from : (Choose
the correct alternative)

(a)  The producers on goods produced
(b)  The sellers on goods sold
(c) The buyers of goods

(d) The income earners

18. T 1y | T {iM W T IIUE B ? 1

What is ‘aggregate demand’ in macroeconomics ?

19. I Ewia 3N Ygd = 1, 70 I oI I8 BT : (Fa! fasheq ) 1
() o0
@) 1
(@) 03N 1% =
(8)

If MPC = 1, the value of multiplier is : (Choose the correct alternative)
(a O

(b) 1

(c) Between 0 and 1

(d) Infinity
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20. for (fa) fafme o o o=ielt (=) fafima o @ = arfim 2 2
HAAAT
e sreemht (vafea foedt) Tt v o1 31ef wmemge | 3
What are fixed and flexible exchange rates ?
OR
Explain the meaning of Managed Floating Exchange Rate.

21.  ‘fogun @ 39w YA SgeH Wi B hal gof fohal SATdl 8 ? R0 TSy | 3

Where is ‘borrowings from abroad’ recorded in the Balance of Payments
Accounts ? Give reasons.

22. 3 Aifgh wha wfiF I T 600 B 3R HWd FIhis (MR = 100)
120 &1, T STEdtaeh Hebel <A AT o1 Uieheld il | 3
If the Nominal GDP is ¥ 600 and Price Index (base = 100) is 120,
calculate the Real GDP.

23. H4¥ % G I HAT 7, Tt 59 HeEd g foh ST Sk g oW
3 | THSTET | IS Sehi g 39 UgT GO Sl TSER 3T WX T I9TE U <ht
HHTEAT 7 ? GHEST | 4

Currency is issued by the central bank, yet we say that commercial
banks create money. Explain. How is this money creation by commercial
banks likely to affect the national income ? Explain.

24. U a1 aqe ¥ g | e & T o w1 aitehe i 4
TR 399 = 120
Hiwrd s=d 9t = 0-2
o = = 150

An economy is in equilibrium. Calculate the National Income from the
following :

Autonomous Consumption = 120
Marginal Propensity to Save = 0-2
Investment Expenditure = 150
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25. g deh 1 “Shl hT b B THIEY |
Srera
H Sk 1 Sihdl oo 1 AT | 4
Explain the “Bankers’ Bank function” of the central bank.
OR

Explain the “Bank of Issue function” of the central bank.

26. ‘AT AT { AT AA™ & ? TR G HH H S G hl Y{HeRT FHATST |
atera

‘i A (rfemin) @ o SR 2 2 @R Q wE H WA el @ h
fHehT TWETET | 6

What is ‘deficient demand’ ? Explain the role of ‘Bank Rate’ in removing
it.

OR
What is ‘excess demand’ ? Explain the role of ‘Reverse Repo Rate’ in
removing it.

27. 3T JAUHMAN HH T H TR S9dd Afd &1 8 YA H Gehdl & 2
qugnsa | 6

Explain how the government can use the budgetary policy in reducing
inequalities in incomes.

28. AU FATd Y GHASY Tob T 3T 1 3TeheH hid §HY fHfeiad & @
FOT FFER R ST =R 6
(i)  Th S I TH ®H R A YTAH
(i)  Ueh SATh %l Ueh sfieh gRI SIS YIIH
(iii) T Sieh I Teh Afth gHI SATS YA
Giving reason explain how the following should be treated in estimation
of national income :

1) Payment of interest by a firm to a bank
(i1)) Payment of interest by a bank to an individual

(iii) Payment of interest by an individual to a bank
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29. R dmd W Faa T 3 aa Twa TEE ST ™ H1 qiehe

ﬁﬁm : 6
(13 <)
(i)  Tft eifan suwm == 400
(i) SRV T 10
(iii)  oT=c Yoft ST ITHM 25
(iv) AT 15
(v) |G SAfaq 3uw == 90
(vi) 9 fova =1 fraet =re] eda 5
(vii) Hehel Qi = gt fAmior 80
(viii) Af Tl 20
(ix) o=@ 10
(x)  Torgeil =t Fee e 31 )5

Calculate ‘Net Domestic Product at Market Price’ and ‘Gross National

Disposable Income’ :

(¥ crores)
(1) Private final consumption expenditure 400
(i1))  Opening stock 10
(i1i) Consumption of fixed capital 25
(iv) Imports 15
(v) Government final consumption expenditure 90
(vi)  Net current transfers to rest of the world 5
(vii) Gross domestic fixed capital formation 80
(viii) Closing stock 20
(ix) Exports 10
(x)  Net factor income to abroad ()5

58/3 12
Downloaded From: http://www.cbseportal.com



